SAP ABAP table ROIUX1 LNK KEY DYN {structure entty for screen}

ROIUX1 LNK KEY DYN-DOI NO = OIU DO DI- DOI NO

o “0.N
ROIUX1 LNK KEY DYN-VNAME = OIU DO_JVVNAME - 0-N
ROIUXl _LNK_KEY DYN-MP_NO = OIU_PR_MP-MP_NO _ 0N

-

ROIUX1 LNK KEY DYN-BUKRS = TO01-BUKRS 0.N

— — -

OIU_DO DI

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

DOI_NO [CHAR (5)]

OIU_DO JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

OIU_PR_MP

MANDT [CLNT (3)]

MP_NO [CHAR (20)]

OIU_PR_WC

MANDT [CLNT (3)]

WL NO [CHAR (15)]

WC_NO [CHAR (5)]

OIU_PR_WELL

MANDT [CLNT (3)]

WL NO [CHAR (15)]

TOO1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]




